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ENGLISH VERSION

Instruction : Marks are indicated on right side.

1 (a)
(b)
1 (a)
(b)
2 (a)
(b)

If A4, B,C are any three sets, then prove that 10
1) An(BuC)=(UNBUANC)

2 Au(BuC)=(4uB)uC

If A:{a, b}, Bz{b, c}, UZ{a, b, c, d}, then prove that 10
(1) (AUB)'=A'NB'
2) (A4NnB)'=A'UB'

OR

Explain the following terms : 10
(1) Infinite set

(2) Singleton set

(3) Union of sets

(4) Complementary set

(5) Null set.

If 4={5,6,7,8,9}, B={2,4,6,8,10,12}, C={3,6,9,12}, 10
then verify that -

1) Au(BNC)=(4uB)N(4UC)

2 An(B-C)=(4ANnB)-(4NC)

Define permutations and prove that 10
n__n! a>r

Pr (n—r)! ’ B
How many different words using all the letters of 10

the word ‘BHAUTIK’ can be formed ? How many of
them (1) begin with B, (i1) begin with B and end with
K, (111) Vowels are always together ?

OR
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(b)

(b)

(b)

(b)

Find the value of x :

M Peg+2Bc+ P ="c

X
26 26
2) PC3y4=""Cyy3

A bag contains 5 red, 3 green and 2 white balls.
How many selections for 3 balls can be made such that
in the selection (1) two balls are of the same colour and
one ball of different colour, (i1) One ball of each colour,
(111) Three balls of the same colour ?

State characteristics of binomial theorem.

Find viaue of (3 +1)°+(y3-1)°-

OR

0

10
1
Find coefficient of x!© in expansion of (x4——j )

2x

Find first middle and last term in the expansion of

Explain meaning and uses of interpolation and
extrapolation.

Extimate the missing values by using proper method
of interpolation.

x:[10]20 30|40 [50 | 60
yo|10[15] = [20] = [30

OR

4 Estimate the value of y when x=120 using Lagrange's
method.

115|125 | 130 | 165

36 [ 40 [ 45 | 48

10

10

15
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